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利。 1. What is the best title for this passage? [ A ] Computer

Newspapers Are Well Liked [ B ] Newspapers of the Future Will

Likely Be on Computer [ C ] Newspapers Are out of Fashion [ D 1

New Communication Technology 2. It might take 30 to 40, years for

computer newspapers to replace traditional newspapers,

because________. [ A ] it is technologically impossible now [ B ]

computer newspapers are too expensive [ C ]there is strong

resistance from both the general population and professional

journalists [ D ] traditional newspapers are easy to read 3. Which of

the following is NOT an advantage of computer newspapers? [ A ]

They are cheaper than traditional newspapers. [ B ] They are very

convenient to use. [ C ] You can get more information from them

quickly. [ D ] You can easily save information for future use. 4.

Journalists are not eager to accept computer newspapers,

because_____. [ A ] they don t know how to use computers [ B ]

they think computer newspapers take too much time to read [ C ]

they think the new technology is bad [ D ] they have been trained to

write for traditional newspapers 5.We can infer from the passage

that_______. [ A ] all technological changes are good [ B ] all



technologies will eventually replace old ones [ C ] new technologies

will eventually replace old ones [ D ] traditional newspapers are here
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